
FOR MORE INFORMATION ON THIS PLAN VISIT:
WWW.CHARLESTONCRAFTED.COM

P L A N S  C R E A T E D  B Y  C H A R L E S T O N  C R A F T E D

P l a n e r  T a b l e

https://www.charlestoncrafted.com/diy-dowel-rod-bookshelf/


P L A N E R  T A B L E

I n t r o d u c t i o n
T h i s  r o l l i n g  p l a n e r  t a b l e  i s  a  g r e a t  a d d i t i o n  t o  a n y  w o r k s h o p .  K e e p
y o u r  p l a n e r  m o b i l e  s o  t h a t  y o u  c a n  u s e  i t  w h e r e  y o u  n e e d  i t !

T h e  p l a n s  a r e  e a s y  t o  f o l l o w ,  b u t  p l e a s e  c o n t a c t
S e a n @ C h a r l e s t o n C r a f t e d . c o m  i f  y o u  h a v e  a n y  q u e s t i o n s !  I f  y o u ’ d
l i k e  t o  s e e  o u r  v e r s i o n  l i v e  i n  a c t i o n ,  c h e c k  o u t  o u r  b l o g  p o s t  a t
w w w . c h a r l e s t o n c r a f t e d . c o m

S u p p l y  L i s t

WWW.CHARLESTONCRAFTED.COM

( 1 )  4 '  x  8 '  x  3 / 4 "  p l y w o o d
( 3 )  1  1 / 2 "  x  3  1 / 2 "  x  8 '  ( c o m m o n  2 x 4 s )
1  1 / 4 "  K r e g  p o c k e t  h o l e  s c r e w s
W o o d  g l u e
2  1 / 2 "  r o l l i n g  l o c k i n g  c a s t e r s

C u t  L i s t
P l y w o o d

( 1 )  B a s e -  3 2 "  x  2 2 "  x  3 / 4 “
( 1 )  P l a n e r  B a s e -  2 0 "  x  2 2 "  x  3 / 4 “
( 1 )  O u t f e e d  B a s e -  1 2 "  x  2 2 "  x  3 / 4 "
( 1 )  S h e l f -  3 2 "  x  1 9 "  x  3 / 4 "

B o a r d s
( 4 )  O u t f e e d  L e g s -  2 6  1 / 4 "  x  1  1 / 2 "  x  3  1 / 2 "
( 4 )  P l a n e r  L e g s -  2 3  3 / 4 "  x  1  1 / 2 "  x  3  1 / 2 "

N o t e -  T h e s e  d i m e n s i o n s  a r e  f o r  a  C r a f t s m a n  p l a n e r .  M e a s u r e
f r o m  t h e  t o p  o f  y o u r  p l a n e r ’ s  o u t f e e d  t o  t h e  b a s e  o f  t h e  p l a n e r .  I f
y o u r  m e a s u r e m e n t  i s  d i f f e r e n t  t h a n  2  1 / 2 " ,  a d j u s t  t h e  l e n g t h  o f
t h e  O u t f e e d  L e g s  b y  t h a t  a m o u n t .

http://charlestoncrafted.com/
https://www.charlestoncrafted.com/diy-dowel-rod-bookshelf/
https://amzlink.to/az0sHjuU6h2fs


0 2

E x p l o d e d  V i e w

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  o n e -  D r i l l  p o c k e t  h o l e s
Start by dri l l ing two pocket holes on each end of al l  eight of the
legs.
Set the collar depth of the dri l l  to 3/4" instead of 1  1 /2"  thickness,
due to the fact that the screw wil l  be going into 3/4" thick wood.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  t w o -  A s s e m b l e  p l a n e r  b a s e
Using wood glue and 1 1/4"  pocket hole screws,  attach one Planer
Leg into each corner of the Planer Base.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  t h r e e -  A s s e m b l e  o u t f e e d  b a s e
Using wood glue and 1 1/4"  pocket hole screws,  attach one
Outfeed Leg into each corner of the Outfeed Base.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  f o u r -  a t t a c h  P l a n e r  b a s e
Using wood glue and 1 1/4"  pocket hole screws,  attach the Planer
Base into the Base.
Align two of the Planer Legs into two corners of the Base.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  f i v e -  a t t a c h  o u t f e e d  b a s e
Using wood glue and 1 1/4"  pocket hole screws,  attach the
Outfeed Base into the Base.
Align two of the Outfeed Legs into the opposite two corners of
the Base and the other two legs al igning next to the Planer Legs
in the middle.
You may also want to add a long screw to attach these two legs
in the middle to keep them aligned.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  S i x -  a t t a c h  c a s t e r s
Turn the planer table on its s ide and attach the casters in each
corner.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  s e v e n -  S e t  u p  P l a n e r
Place your planer on the Planer Base and open its attach outfeed
base and push that up against the Outfeed Base of the table.
Secure planer into the Planer Base with screws.
Sl ide shop vac under the table and attach the hose to the planer.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

S t e p  e i g h t -  O p t i o n a l  S h e l f
You can also add an optional Shelf  from the cut l ist  and attach
this in the middle of the planer table legs i f  you’d rather have this
than the shop vac.

WWW.CHARLESTONCRAFTED.COMP L A N E R  T A B L E



0 2

F i n a l  S t e p -  E n j o y !
Enjoy your handiwork and tag @CharlestonCrafted on Instagram
with a picture!

WWW.CHARLESTONCRAFTED.COM

T h e s e  p l a n s  a r e  f o r  p e r s o n a l  u s e  o n l y  a n d  a r e  m e a n t  t o  s e r v e  a s  a  g u i d e  t o  b u i l d .  S e a n  a n d
M o r g a n  M c B r i d e  a n d  T h e  C h a r l e s t o n  C r a f t e d  B l o g  L L C  d o  n o t  a s s u m e  a n y  r e s p o n s i b i l i t y  o r

l i a b i l i t y  a r i s i n g  f r o m  t h e  m i s u s e  o f  t h e s e  p l a n s  o r  i n j u r i e s  t h a t  o c c u r  d u r i n g  t h e  c o n s t r u c t i o n  o r
u s e  o f  y o u r  p r o d u c t .

P L A N E R  T A B L E


